———— %,

_1 _____ ___ Shstant 15

10 e e?“a 7
ey O

1072

=

107

0‘—810-8—6—4 I B R T

| pull of qoverp parameter

eal -
gma &
nenes 0.0 ST
& Bev .
onstant 8
ean —0.
\gma .
& Bey

0.2

H

086 =4 20 2 4 6 810

,—W_ —
— —m 1 —rea}ram%iledrﬁrllgsS%b

8iter2 _noSel |

[ pull of @parameter |

o : ! :

= o 0:0 e oowmoen
@ ’ N : : : N Y
0: . . .

09“1086420246810

[ pull of dxy parameter

1072

[ ]

Ratio

[pull o

f 0 parameter |

107}

08 =6 4 2 0 2 4 6 8 10

[ pull of dz parameter

107}

res

E‘s]s%%‘(n 8 8‘3

FIeS

aB 0.0
glonslam -0 Ogg‘%

itk

T oo
gm oo&é%
oo

'—.L086420246810



	Contents
	Page 1


